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400x%x2 =800
GtED L)
400X 2=(4%X2)X100=800

500% 6 =3000
GHED Lb )

500X 6=(5X6)x | 00=3000

300x8 =2400
CELIRNS

300X 8=(3X8)X |00=2400

700X 8 =5600
GHED L)
700X8=(7X8)xX100=5600

800x5=4000
GtED LH7)

800X 5=(8x5)x |00=4000
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200% 5 = 1000
GHEO L7
200X 5=(2X5)X |00= 1000

g00x 9 =8100
CELIRNS
JOOXg=(9X9)x 100=8100

600x3 = 1300
GtEH Lo 72)
600X 3=(6X3)X100= 1800

800x 2 = 1600
CLLIRNS
800X 2=(8%2) X |00= 1600

700x9 =6300
GtEn LhF:)

700X 9 =(7x9)X |00=6300

2TOEETU> MWebH+ hh\SERTH O O— RTEET,



